1 FRSOFEEFHEMITKR (ERI1EIANNBRE)
(1) —me=st
(B EAM)
% A % H
B B FEBRLE A|UAFEEE B)| B)/(A) (%) |HERLLE (%) ® = FEIRLE (O)|XZHFEE (D)| (D)/(C) (%) | #ERLEE (%)
1 ™ 5] 5,895 5,878 99.7 08| 1 & = & 205 201 98.0 1.1
2 i H E 5 170 187 110.0 11 2 # % & 2,682 1,550 57.8 8.7
3 M F A X M &£ 7 8 1143 00| 3 R & & 6,131 5,605 914 315
4 B OB B X F £ 20 18 90.0 01| 4 #& = & 2,497 2,204 88.3 12.4
5 HBAFREMBIXRMGE 9 15 166.7 01|[5 BEM K E X & 1,993 1,765 88.6 9.9
6 hHFEHE/BRIMTE 761 787 103.4 411 6 & T & 389 333 85.6 1.9
7 LG ARRAE 6 6 100.0 00| 7 = /N =y 2919 1,593 54.6 9.0
8 BEBERSMXfF & 40 52 130.0 03| 8 A 3] 7 853 724 84.9 4.1
9 M A 4 Ol X F & 26 26 100.0 01| 9 % ] & 2,511 1,749 69.7 9.8
oM H X O 3,552 3,593 101.2 188[|10 X & & IH & 2 2 100.0 0.0
1 RBREXRFANRTE 3 3 100.0 00|11 & E =y 1,752 1,679 95.8 9.4
2a#EesrRVvEHESE 66 66 100.0 03|12 8 X H #® 385 384 99.7 2.2
BHEAHERUF HH 416 403 96.9 21 (|13 % 3 & 22 0 0.0 0.0
WE E X H £ 2,865 2,443 85.3 12.8
15 & * H & 1,344 330 24.6 1.7
16 Bf P 1 A 36 36 100.0 0.2
17 & Bt & 150 145 96.7 0.7
18 #& A & 2,548 2,462 96.6 13.0
19 #& i & 1,320 1,320 100.0 6.9
20 & IR A 534 516 96.6 2.7
21 & 2,573 796 30.9 4.2
m A & & 22,341 19,090 85.4 100.0 A = 22,341 17,789 79.6 100.0

(% BUFPEIT)




(2) THDRARSR

(3) Al=Ft

(Bfr-BaBm[) (Bfi-BBA)
# H FHIRLE IRAEEE | R %) 2 & & |FHEZE E|WRAFZZE P(XZLEEE (G) F/E) @ | (G)/E) %)
T RO 2,630 2,640 44.9 ERERERIRSEE 5,370 4,774 4,693 88.9 87.4
2 B EEE M 2,625 2,618 445 K B & R 7 5 4 71.4 57.1
S EB ® EM 128 127 2.2 NHETKEFEE 630 543 403 86.2 64.0
T R G 328 309 5.3 BEREHKER 56 55 42 98.2 75.0
5 A &= ® 22 22 0.4 TERKRER 4,118 4,081 3,721 99.1 90.4
6 # ™ Ft B 162 162 2.7 BHEmEER 481 479 469 99.6 97.5
a & (1~6) 5,895 5,878 100.0 =) &t 10,662 9,937 9,332 93.2 875
REmRKEH 889 914 100.0 x BHFESD)




(4) DELXRE

© THRBOFEDRH (RRA)KR (B EJHA) © TRB0FEDFEERR (B4 EJHHA)
% KEEE | LIl | mREE | A E 4% Kk | LB | mwEs |
E OEXE IR O# 1,040 137 2,764 3,941 2 X I &= 964 127 2,754 3,845
Wle % 5 0w % 181 12 499 692 Wle % 5 4w % 113 12 500 625
g | A B F 0 0 0 0 "k ¥Rl FM & 0 0 0 0
2 &t 1,221 149 3,263 4,633 it (A 1,077 139 3,254 4,470
E X & H 866 179 3,301 4,346 & E %X & H 838 171 3,243 4,252
M X 2 5 8 @ 59 9 67 135| |&t|B |2 £ 4 &8 B 59 8 132 199
TP E= T TS 0 0 21 2| |g|mE B 8 % 0 0 21 21
B 925 188 3,389 4,502 - it B) 897 179 3,396 4,472
= * & 1,068 0 21 1089 |~
BE-BE#bE 0 0 0 0 LEAMEFIZE (A)—(B) 180 A 40 A 142 A2
R =8 8f 27 0 0 27
& —BRFHESE 7 0 3 10 ~|B E & E 8,936 832 6,289 16,057
A= HBE 0 0 117 117 ,—i w B B OE 927 299 681 1,907
I 0 0 9 of |E gﬁ ® LB T 0 0 0 0
¥ H 1,102 0 150 1,252 | g 5 9,863 1,131 6,970 17,964
BRXURBRE 1,575 12 37 1,624 st| g B & & & 4317 354 4,004 8,675
FIEXEEES 181 40 219 440 EIR B & & 295 30 680 1,005
& —REARFE 0 0 0 of |* ﬁ ®OE I & 1,443 179 2,039 3,661
z ) fth 0 0 10 10 |&|x|E A & 3,106 352 3,026 6,484
H 0 g% 3 52 2 702 216] A 2779] A 1,861
H 1,756 52 266 2,074 g 9,863 1,131 6,970 17,964




© THMIOFEEDFHMITIKE (B JHHA)
X% KEEE | Lok | BREE | A

FHEBRE © 1,137 147 3,247 4,531

4z = #HOoE B D 1,221 149 3,263 4,633

* #1TE(D)/(C) (%) 107.4 101.4 1005 102.3

" FEHRE © 943 199 3,428 4,570

i} * X HFEE P 925 188 3,389 4,502

g #ITEF)/(E) %) 98.1 94.5 98.9 98.5

FEHRHE @ 1,102 0 150 1,252

& = HOE B OH 1,102 0 150 1,252

* ITEMH)/(G) %) 100.0 100.0 100.0

* FEHEE (D 1,765 55 270 2,090

fJ * X FEE ) 1,756 52 266 2,074

g #ATEU)/D ®) 99.5 94.5 98.5 99.2




